






Tan2A.Tan4A = 1,          Sin2A + Cos4A = ?

1.0
2.1
3.-1
4.NOT



Sin( 3x-12 ) = Cos ( 6x – 3 ),           x = ?

1.15
2.105/9
3.135/7
4.NOT



Cot 5. Cot 43. Cot 47. Cot 85 = ?

1.0
2.1
3.-1
4.NOT



Sin(x+y).Sec(x-y)  = 1

Sin2x + Cos2x + Tanx + Cotx = ?

1.1
2.2
3.3
4.4



Tan5A.Tan(37-4A) = 1,     A = ?

1.57
2.64
3.94
4.63



Cos(m-n+1). Cosec(n-m+A+44)  = 1,    TanA + Cos2A = ?

1.1
2.2
3.1 ½
4.0



CotA.Tan(90-A) – Sec(90-A).CosecA + (Sin224 + Sin266) + 

Tan5.Tan20.Tan60.Tan70.Tan85 = ?

1.1

2. 3
3.0
4.2



𝐒𝐢𝐧𝟑𝟗

𝐂𝐨𝐬𝟓𝟏
+ 3Tan12.Tan33.Tan45.Tan57.Tan78 – 6(Sin219 + 

Sin271)   =   ?

1.-1
2.-2
3.1
4.0



SinA + CosA = 
𝟕

𝟓
,  SinA.CosA = ?

1.9/25
2.16/25
3.12/25
4.1



SinA + CosA = 
𝟑𝟏

𝟐𝟓
,  SinA.CosA = ?

1.168/625
2.24/25
3.168/25
4.NOT



12SinA + 5CosA = 13,     CotA = ?

1.5/12
2.12/13
3.12/5
4.NOT



10 Sin4A + 15Cos4A = 6,           27Cosec6A + 8Sec6A = ?

1.125
2.250
3.300
4.320



6Sin4A + 3Cos4A = 2,    ( 7Cosec6A + 8Sec6A )1/3 = ?

1.3
2.2
3.6
4.216



xSin3A + yCos3A  = SinA.CosA,   xSinA – yCosA = 0

x2 + y2 = ?    

1.0
2.1
3.2
4.4



1.a


